ISASMO Sample Paper (P2)|

1. Inthe zoo, there are 45 heads of monkeys and lions. There are twice as many monkeys as lions. How
many lions are there?
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2. Sherry has five times as many toys as Jay. Nairan has three times as many toys as Jay. Sherry has 16 toys
more than Nairan has. How many toys does Jay have?
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3. Boys A, B, C, D and E went to the library. A took 8 more books than E. B took 20, while C and D took 24
and 18 respectively. They took an average of 20 books. How many books did A take.
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4.  In a group of 35 students, there are 9 girls more than boys. What is the number of girls?
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5. Jason has eaten 45 chocolates in 5 days. Every day, he ate 2 chocolates more than the previous day. How
many chocolates did he eat on the first day?
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6. What number does N represent?
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10 +20 + 30 +40 + 50 + N =220

7. Iam thinking of a number. If you subtract 3 from my number and then multiply by 4, the result is 28.
What number am I thinking of 7
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8.  Zach buys two hot dogs and three drinks for $14. Drinks cost $2 each. How much does one hot dog cost?
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9. In the addition problem below, different letters represent different digits and A is bigger than P. What

three-digit number does EEE, the sum, represent?
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10. How many digits are in the product of the following:
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2x3x5x2x3x5x2x3x5



